= NEW PRODUCT E] = REPLACEMENT PART = ACCESSORY = BARE TOOL @ GREENLEE

KNOGKOUT PARTS CABINETS

Knockout Punch Parts Assortment Cabinets

¢ Includes balanced stock of replacement parts in sturdy steel cabinets.

(WYR[VBN UPC NO. DESCRIPTION
s | 7360SB 34358 Knockout Punch Parts Assortment 1/2" - 2. Includes

===
R Metal Cabinet 14" High, 13" Wide and 14-3/4" Deep, with
4 Drawers.
7361SB 34359  Knockout Punch Parts Assortment 1/2" - 3". Includes
Metal Cabinet 19-1/2" High, 27" Wide and 15" Deep with

4 Drawers.
b3 F ERSEHDYT FONDS FRATY
736098
T A— 7361SB/34359 PARTS CABINET INCLUDES
EWCEeET CRh PAATY
UPC NO. DESCRIPTION QTy.
721-1/2 31756 Slug-Buster® 1/2” Conduit Punch 18
14722 14722 1/2” Conduit Die 12
= = 721-3/4 31757 Slug-Buster® 3/4” Conduit Punch 6
124AV 06972 3/4” Conduit Die 6
3 72141 31758 Slug-Buster® 1” Conduit Punch 6
o 0N Condutie :
721-1-1/4 31759 Slug-Buster® 1-1/4” Conduit Punch 6
= 128AV 04013 1-1/4” Conduit Die 6
7211172 31760 Slug-Buster® 1-1/2" Conduit Punch 3
440AV 04061 1-1/2” Conduit Die 3
721-2 31761 Slug-Buster® 2” Conduit Punch 3
4420V 04063 2” Conduit Die 2
1429AV 04175 2-1/2” Conduit Punch 1
1430AV 04177 2-1/2” Conduit Die 1
1431AV 04180 3” Conduit Punch 1
RSO LAMTRRIS PARTS 1432AV 04183 3” Conduit Die 1
00042 00042 3/8” Draw Stud 12
249AVBB 04040 3/4” Drive Screw 8
73615B 304AVBB 04042 3/4” Drive Screw 6
1434AV 04188 5-1/2” x 3/4” Drive Screw 1
7360SB/34358 PARTS CABINET INCLUDES Vs BRI ! ball Bearing Nut !
12097 12097 3/8” Adapter Screw 6
UPC NO. DESCRIPTION Qary. 30227 30227 7/16” Adapter Screw 2
721-1/2 31756 Slug-Buster® 1/2” Conduit Punch 18 12099 12099 3/4” Ball Bearing Adapter Screw 2
14722 14722 1/2” Conduit Die 12 20963 20963 3/8” Draw Stud 20
721-3/4 31757 Slug-Buster® 3/4” Conduit Punch 6 21138 10109 3/4” Draw Stud 6
124AV 06972  3/4” Conduit Die 6 1557AA 03170 1-1/8” Punch Sleeve 1
7211 31758  Slug-Buster® 1” Conduit Punch 3 3037AV 04686 3-1/2”, 4” & 5” Conduit Bushing 1
126AV 04011 1" Conduit Die 3 1924AA 03248 Short Spacer 4
721-1-1/4 31759  Slug-Buster® 1-1/4” Conduit Punch 3 1925AA 03249 Medium Spacer 4
128AV 04013 1-1/4” Conduit Die 3 1926AA 06904 Long Spacer 4
721-1-1/2 31760  Slug-Buster® 1-1/2” Conduit Punch 2 28154 28154 Punch 1/2” HD Slug-Splitter SC™ 1
440AV 04061 1-1/2 Conduit Die 2 28155 28155 Die 1/2” HD Slug-Splitter SC™ 1
7212 31761 Slug-Buster® 2" Conduit Punch 2 29451 29451 Draw Stud, 7/16” Stainless Steel 1
442AV 04063 2 Conduit Die 1 31834 31834 Cabinet A only (top) 1
00042 00042 3/8" Drive Screw 12 31849 31849 Cabinet B only (bottom) 1
249AVBB 04040  3/4” Drive Screw 4
304AVBB 04042  3/4” Drive Screw 4
12097 12097  3/8” Adapter Screw 4
20963 20963  3/8” Draw Stud 20
2113B 10109  3/4” Draw Stud 4
31832 31832  Cabinet only 1
800.435.0786 866.384.8813 +1.815.397.7070 91

800.451.2632 800.524.2853 +1.815.397.9247



